Math Test 1 (gaii1)

Thmnde (Joaz 4 azuuu)

1./ muald A=(3 -4 1 B = (5 6 2); C=(2 3 0
2 0 7 13 -3 4 3 -5 4
-6 1 8 3 4 1 1 2 6
WA 7A-8B+6.C = ?
2.fmuald A= (T4 2 0 1 B=(9 1 5)
6 1 3 4 4 2 1
5 6 -7 8 1 0 6
IR
WM AB = ?
sdmualy A= (2 3 -4 5)
5 -4 2 0
6 3 4 2
6 8 3
WMIAes  8.C, + 9.C,- 6.C, = ?
4. fmuald A= (7 -2 4
0 2 1
8 5 3

WHIAIY A = ?

) J .
5. vaudaums Iagldamesiuuun ( Determinant )

3X+2Y- 2 = 3
X-4Y-32Z = -3
2X+5Y+ 272 = 8

==



Math Test 1 ( 4ah 2 )

Timnde (Joaz 4 azuuu)
1

1.fmuald A=(3 -2 B = (3
0 8 4 4
6 5 -3 2

1MUY 7T A-8B+6.C = ?

2 fmuald A=(3 -2 1 6

WM AB = ?

2 0)

3fmuald A= (5

1 4 6

4
2
9 8 -3 7
\& 0 6 -5/

WMmAwes  3.C, + 8.C, - 10.C,, = ?

4 dmuald A= (7 -1 0
5 2 6
3 4 8

WHIAIY A = ?

5. udaums Iagldamostuuus ( Determinant )
2X +3Y- Z = -5
X -4Y -57 = 6

3X +BY +272 = 1



